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(1048)
Let §=1,.2,3.4}. The total number of un-ordered pairs of disjoint subsets of a set
5 is equal to

A) 25 B) 34 Ch4l 42
If n{A)=1000, n(#)=500 and if (A1 B)z1and n{4Al) B)= p, then

A) 500< p <1000 B) 10015 p <1498
C) 999 < p <1499 D) 1000 < p 5 1499

If 7:91—» 9 satisfies f(x+y)= flx)+ () forall x,ye%and f(1)=10, then if{"}

r=|

A) Sn B) 5(n+1) C) 10a(n+1) D) Smin+1)

If 91 is a relation on the set §=1{L, 2.3,4,5,6,7.8,9] given by x91y < y=13x, then
RON' is

A {l1.3)(2.6).(3.9)) B) {{1,10(2.2)(3,3)}
€y {(3.3).(6.6).(9,9)) ) Nene of these
Let the function 7 :H — R be defined by ,r{r}=lx+sinxfnr all xe™ . Then f(x) is

A) One-to-one and onto B) One-to-one but not onto
'y Omto but not one-to-one D) Neither one-to-one nor onto

If £ :[1,00)— [2,2)is given by x4, then f'(x) equals
x

] .'l:+'u'r_l.' -4 B) x C) I_le_; " o) I=-¥x —4

A =
2 l+x 2

The number of values of x in the interval [0,37] satisfying the
equation 2sin’ x + 5sinx -3 =10 is equal to

Al 6 Bj4 C)2 D)1
The valoe of §m_55_——c::3|555 is equal to

sin il
Ayt B) 2 C) 1 D)2

J2



9, I 1+sinx+sin’ x4~ - ~=4w=4+2y3,0<x <x, then x is cqual te

A) = B) £ C) Torf m = or i
f 3 3 & 3 3
10, In a A ABC 1 cosecA(sin BeosC +cos BsinC)is equal to
Ay £ gy 2 C)1 D) 0
a 3
|'I 11
11. The value of mn[cus §+1|:1.n j] is equal to
3 7 o 16
A) - B) - ¢) = D) =
"7 ' 16 '8 &

12. The sides of a triangle are a.b, ».";" +ab+h? s then the greatest angle is
A) 120° B) 90’ C) 60° Dy 135

13. The complex numbers; sin x + i/ cos 2x and cosx +isin 2x are conjugate to each other for

{
Al x=nmr H}:;:t.”+%JF Cyx=0 ) No value of x

14, The points =, z,,2,, 2, in the complex plane are the vertices of a parallelogram taken
in order if and only if

Al r 4z, =545, B a+n=5+z, Qz+5=z5+3 Dizz=5z

15.1f &' = Land @ =1, then (1+a){l+ 0’ 1 +a' 1+ ) is equal to
A)3 B) -3 C) 9 D 1

16. Let zhe a complex number such that the imaginary part of zis non-zero and
p=1 +4z+1 is real. Then * p ' can not take the value
C)

1
A) B D)-1
}4 )

bl | —

Las | =

17. Both the roots of the equation: (x—b){x—c)+(x—c) {x- a)+{x~a){x-b)=0, are
A) Positive B) Negative C) Real D) Complex conjugate

18. If the roots of the equation: ©'—12x° +39x~28 =0 are in AP, then their common
difference will be

Ay 1] B) £ Cy+3 D) +4

(2)




19, A value of b for which the squations: §' +br—]=0and x'+x-+b=0have one root
in common is

A) =2 B) —iy3 C) is D) 2

20,11 | 2r—3|<|x+5|, then x lies in the inferval

) 2 9
A) (-3,9) B| - ,5] c ..g,._] Dy [=s. ]
L 3 }[ 3 J AR |
21. Let a,,a,,a, ———be terms of an AP. If e e —-‘D] p#q, then % s
u.|+:'..lz+——-- hﬂ ;"' u“
equal to
7 il 2 41
A) - B) — C) = i
3 a1 ) 7 ) T

72. The fifth term of a2 GP is 2, then the product of its 9 terms is
A) 256 B} 512 C) 1024 ) 526

O 135 1.3.5.7

73. The sum of the series: |+ —+ —+ -+ -——— =il
3 3.6 169 369I2

o 3 [
W C-CHC=Cy +- - —4{=1)""C, is equal to
A) 2 B) 2"-1 Cy o Dy 2

"
25, 1f(1 + px) —J+ﬁ.t+??x 4———+ p"s", then the values of pand nare given by

A) (2.3) B) (3,2) H ] D) [;&]

26. The coefficient of the middle term in the expansion of (x+2 y) is
A) 8°C, B) B*°C, E)'C, D) 8 °C,

27. Ten different letiers of an alphabet are given. Words with 5 letters are formed from
these given letters. Then, the number of words which have at least one letter

repeated is
A) 69460 B} 69760 C) 69000 D) 59748

3




28. A five-digit number divisible by 3 is to be formed using the numbers 0, 1, 2, 3, 4 and
5 without repetition. The total number of ways this can be done is

A) 216 B) 240 C) 600 D) 3125

29. 11 "'C,47'C,5"C, , then n just greater than integer

A) S Bl 6 Ci4 D)7
30. A triangle with vertices(4,0L(-1,~1) and (3,5) is
A) Isosceles and right angled B) Isosceles but not right angled
) Right angled but not isosceles D) Neither isosceles nor right angled
31. The equation: -,fﬁx— 2) +_:|-"|+ -J[x :1_}1+ ;:-ila 4, represents
A) Pair of lines B) Circle ) A parabolid [3) An ellipse
32 If non-zero numbers . band care in HP, then the straight line 2 +§+-|- =1{) always
a ¢

passes throwgh a fixed point. That point is

M{l.—; B) (1,-2) C) {-1,~-2) D) (-1,2)

3L A circle ¢ passes through the point (0,1) and is orthogonal to the circles
[x=1F + 3" =16 and x* + " =1, Then
A)Radiusof C is 8 B) Radivsof C is 6
C) Centre of C is (-7.1) D) centre of € (~8,1)

M. If the two circles (x—1) +(y—3F =+ and x* + 3" —8x+2y+8 = 0intersect in two

distinct points, then
Ay2zr<8 B)r<2 C)r=2 D)yr>2

35 Let I_'.r.‘r:lb-c any point on the parabola y' = 4x. If Pis the point that divides the line
segment (0,0) to [1._}'} in the ratio 1:3, then, the locus of Pis
Ay’ =y B) y'=2x C)y'=x D) x* =2y

36.11 1, and 7 are the parameters of the end points of a focal chord for the
parabola v* = 42 x, then which one is correct”

A) Lt =1 B) 1, =1, Cyet,=—1 D) 1, +iy =]

(4)




37. The equation of the circle passing through the focl of the emm%+%- =|and
having centre at (0,3) is

A) X'+ y' —by=T=0 B) £’ +y —6y+7=0

C)x +y —by-5=0 D) x' 49 -6p+5=0

38 In an cllipse, the distances between its foci is 6 and minor axis is 8 Then, its
eccentricity is

3 4
A) ~ B)- C) -
'3 s &

!
D
'
19, The value of m, for which the liney=mx+2is a tangent to the hyperbola
dx’ -9y =16 are

B) £-— (& B -

A4 442 2 8 D) tz_Jz
3 3 9 3

40, The distance of the point [I,ﬂ.?]frnm the point of intersection of the

e B
lime: 1-1 = 'P—:—I = “—jl:ll:ldﬂli.' plane x - y+z2=16is

A) 214 B)& C) 321 D) 13
41. The statement p — (g — p) is equivalent to
A)p=(peyq) B p-lp-g) © p—=(pvq) D) p—+(pag)

42, If in & frequency distribution, the mean and median are 21 and 22 respectively, then
its mode is approximately

A)24.0 B)25.5 C) 20.5 D) 22.0

43, The mean of n terms is x. If the first term is increased by 1, second by 2 and so on,
then the new mean is

A)x+n E};hg C) ;.,,__‘?_‘1"[ D) x

44. Three boys and two girls stand in & quene. The probability that the number of boys
ahead of every girl is at least one more than the number of girls abead of her is

1 | 2 3
- 54 fe D)y =
A) H13 }3 }4

e
£

(3)
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45, Let w=— 5 + ."-1'_]3 . Then, the value of the determinant || =l-@° @ @B

| ' w'

A) 3 B) 3w -1) C) 3w’ D) 3ol -a)

46. The number of values of & for which the system of equatium:l[.t +1)x+By=4k,
kx+(k+3)y=3k-1 has infinitely many solutions is

Al D Bil Cy2 D} Infinite
47. 11 ]|m!ﬂST mﬂ' = k , then the value of £ is
g—all X
1 2 2
A)0 B) —; C) E ) —E
8.1 fla)=2, gla)=-1, fla)=1and g'(a)=2, then the value of
. [f(x)gla)- la)elx)] .
MICTODICEO I
AYS B) ) D) -5
5 3

49, In order that the function f{x)=(x+1)*"* is continuous at x=0, f(0)must be
defined as

A) flo)=0 B) fl0)=e C) _r{u}:l ) flo)=1

|8

50, The value of the derivative of |x—1]+|x=3 at x=2 is

A)-2 B) 0 )2 D) 4

SIIF f{x)=—"— and g(x)=——, where 0<x <1, then in this interval
qANnx tan x

A) Both f(x) and g{x) arc increasing functions
B) Both f{x) and g{x) are decreasing functions
C) f{x) is an increasing function

[y glx) is an increasing function

()
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52, The value of ‘[e ; [l - —I]-j:ir is equal to
A) f[:r--lJ B) efe~1) C)o ) (--'-e—l]

30 [e” (x-a)dy =0, then
|:.

Allca<? B) er < O lcax<l Dya=0

I
54. The value of the integral Icm"[} —x+ r:’]dx is
a

A)

K| A

g i T
—— C) —+In2 D
B) 5 In2 ) 1 j] i

55, The arca bounded by the curve x° = 4y and the straight line: x = 4y -2 is

9
A) :sq.um':‘s B) g:q-unm- C) g:rq.um'.r:r D) -E-.iq.ﬂ?rfr.r
] h !
: : dy d'y
56. The order and degree of a differential equation: JI + e = ) is
Al fzg B) (2.2) €) (2.1) D) (2,4)

57. The differential equation of the family of curves: y=Pe’" 4 Q¢ for different
values of P and (J is

s () oy 'y
A) :.[1 =4x B}[-—] =4y ) e =4y ) ™ xy

5807 p and ﬁ"nre two unit vectors such that ;+ 24-;-: and 5 p-4 g are perpendicular to

]

each other, then the angle between _ptud g is

] || 2

p
A) 45 By 607 ) ms'[;] D) cos 'L-

(7)




589, Let p= i~k §=xi+ .,r'+{1— xik and r= _L';-l rfrll+x—ylk. Th.tn||,rl.| q r'l depends
1

on
AlOnlyon x B) Only on ¥
) Neither on x nor on y D} Roth on x and y

60. The maximum value of 7 =3x+4y subjeetto ZIx+ 2y = 80, 2x+4y=120,x,y 20 is

A} 120 B) 13 C) 140 D) 150

X=K-T

(8)




